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2 -FIIE100(2) L1 57,978 29,156 28,822 9,739 9,742 10,055 10,003 9,362 9,077 4,329 3,331 998
& i 41, 158 19, 603 21, 555 6,516 7, 230 6,811 7,525 6,276 6, 800
i3 3% 3,075 1, 794 1,281 628 446 608 437 558 398
T ES 4,521 4, 202 319 1,418 131 1,421 119 1,363 69
[ E= 3,751 1,393 2, 358 458 830 505 788 430 740
£ JiE 670 79 591 26 198 20 205 33 188
= Hik 74 20 54 9 14 6 25 5 15
Y = 2,910 1,310 1, 600 445 536 425 556 440 508
z O 1,819 755 1, 064 239 357 259 348 257 359

RIE 83(2) £ 47,708 24,487 23,221 8,116 7,820 8,487 8,117 7,884 7,284 3,637 2816 821
e i 32, 441 15, 652 16, 789 5, 140 5, 600 5,474 5,937 5,038 5, 252
- 2% 3,075 1, 794 1,281 628 446 608 437 558 398
T 2% 4,218 3,910 308 1,318 127 1,319 114 1,273 67
] 2% 3, 480 1,298 2, 182 420 759 476 733 402 690
F JiE 459 17 442 4 149 7 145 6 148
® & 2,419 1,149 1,270 395 422 376 443 378 405
z O 1,616 667 949 211 317 227 308 229 324

1 3L B 1 Bt 491 161 330 50 114 49 113 62 103 44 32 12
Y = 491 161 330 50 114 49 113 62 103

#h 3R 15 E 9,779 4,508 5271 1,573 1,808 1,519 1,773 1,416 1,690 648 483 165
L i 8, 717 3,951 4,766 1,376 1, 630 1,337 1,588 1,238 1,548
T 2% 303 292 11 100 4 102 5 90 2
] 2% 271 95 176 38 71 29 55 28 50
F JiE 211 62 149 22 49 13 60 27 40
& ik 74 20 54 9 14 6 25 5 15
z O 203 88 115 28 40 32 40 28 35
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